
Exercise 1 

Directions: Choose the best answer

1. George is older than Bob. Fred is 

younger than George. Bob is older than 

Fred. If the first two statements are true, 

the third statement is 

A. true. 

B. false. 

C. uncertain 

2. Group A sings higher than Group C. 

Group B sings lower than Group C. 

Group A sings higher than Group B. I ft 

he first Ovo statements are true, the 

third statement is 

A. true. 

B. false. 

C. uncertain. 

3. Percolator coffee is weaker than 

electric-drip coffee. Extractor coffee is 

stronger than electric-drip coffee. 

Electric-drip coffee is stronger than 

extractor coffee. If the first two 

statements are true, the third statement 

is 

A. true. 

B. false. 

C. uncertain. 

 

 

 

 

 

4. Red kites fly higher than yellow kites. 

Yellow balloons fly higher than red kites. 

Yellow kites fly higher than yellow 

balloons. If the first two statements are 

true, the third statement is 

A. true. 

B. false. 

C. uncertain. 

5. The New York team lost fewer games 

than the Boston team. The Boston team 

won more games than the Baltimore 

team, but not as many games as the 

New York team. The Baltimore team lost 

the fewest games. If the first two 

statements are true, the third statement 

is 

A. true. 

B. false. 

C. uncertain. 

6. The history book has more pages than 

the poetry book, but fewer pages than 

the math book. The math book has 

more pages than the science book but 

fewer pages than the English book. The 

poetry book has the fewest pages. If the 

first two statements are true, the third 

statement is 

A. true. 

B. false. 

C. uncertain. 

 



7. Which word does not belong with the 

others?  

A. ceiling  

B. window 

C. floor 

D. wall 

8. Which words does not belong with the 

others? 

A. orange 

B. apple 

C. tomato 

D. carrot  

9. Which words does not belong with the 

others? 

A. emotion 

B. love 

C. anger 

D. disappointment  

10. Which words does not belong with the 

others? 

A. destroy 

B. brick 

C. construct 

D. connect 

11. Which words does not belong with the 

others? 

A. medicine 

B. healing 

C. therapy 

D. surgery 

 

 

12. Which words does not belong with the 

others? 

A. orange 

B. brown 

C. red 

D. purple 

 

 


